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as case of unfair means.

1. Explain different stagés of LCCA.

detai] used for B/C analysis.

3. (a) Explain the conceptual cost estimation techmque lmdet

involved in conceptual cost estimation.

(b) Find out the economical acceptability of the P‘-lbhc*g
conventional benefit~cost ratio method. Use Fv:'

of costs, benefits and disbenefits. The cash flg
Tnitial cost = Rs.22000000
Annual operating cost = Rs.17000Q0 *
Worth of annual benefits = Rs.6
Worth of annual disbenefits
Salvage value = Rs.40000

(©6)

plain different steps

(8)
Cproj ¢t using modified and
maethods to find out the equivalent worth

d ta;ﬁs of a public project is as follows
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